
Wähle die richtige Antwort aus (plus Zahlen bis 10)

1.

342 + 6 =

121 348 320 313

2.

972 + 8 =

144 980 785 252

3.

454 + 8 =

464 111 108 462

4.

847 + 4 =

851 438 563 246

5.

146 + 8 =

53 34 154 1

6.

873 + 2 =

66 374 647 875

7.

583 + 2 =

445 392 585 495

8.

961 + 7 =

419 968 283 410

9.

646 + 10 =

575 283 656 298

10.

625 + 8 =

494 633 328 619

11.

545 + 7 =

163 552 275 317

12.

405 + 5 =

379 224 410 294

13.

537 + 4 =

148 45 541 472

14.

950 + 10 =

276 601 656 960

15.

650 + 6 =

185 479 656 486

16.

623 + 10 =

633 100 164 206

17.

583 + 3 =

432 591 260 586

18.

939 + 9 =

62 776 85 948

19.

956 + 6 =

724 843 859 962

20.

979 + 8 =

792 987 756 678
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Wähle die richtige Antwort aus (plus Zahlen bis 10)
| ANTWORTEN
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